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ANSWER THE FOOLOWING QUESTIONS:

Q. 1. Define or explain FIVEof the following terms:(25Marks)
PP: Cash equivalents48-

Process reengineering 92-

Balanced scorecard 93-

Sunk costs, opportunity costs119-

Quantitative cost drivers 128-

Special pricing decisions160-

Outsourcing decisions 170-

ISO 9000 standards 186-

Q.2. The following data extracted from “M” Corporation,,,,.,(20 Marks)
Required:Prepare the investment in “Z” firm account at “M” Corporation.

SOLUTION:
1-
Investment in *“Z” firm account

5 Cash 225000 Cash 28000 |5
<la 2 | Equity earning of Z 64400 Sl e
10 (70000- 5600 dep.) Bal. 261400
il

289400 289400

NB: 450000 +175000-70000= 555000 x 0.4 = 222000 +45000 (differencial)—
- 5600=261400

Q.3. On 1-11-2020 “ME” company purchased 1000 common shares (35 Marks)

Required:Prepare journal entries for “ME” Company.



SOLUTION:

1-11- Marketable sec. a/c 6000 Sl 13
2020 Cash a/c 6000
31-12- Adjustment of FV a/c 1000, Sl 12
2020 Unrealized gain a/c 1000
20-1- Cash a/c 7000 <5
2021 Marketable sec. a/c 4200
Realized gain a/c 2800
Realized gain a/c' 2800
Income summary a/c 2800 o
31-12- Adjustment of FV a/c 1500 clad s
2021 Unrealized gain a/c 1500
Unrealized gain a/c 1500
Income summary a/c 1500

Q.4. “There are four reasonswhy companies do not useof the activity-based(20 Marks)
costing, ABC, for external reportingpurposes;in addition to limitations
of applying ABC system in companies”. Explain with examples this

statement. ;

BOOK PP: 149-151..
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